= ® ow®

airpower PR

W #s
WRSRTHE
AC 2000 02 D
(RIIRS AURT (wer0o) HAAR)
1000 M5:M5  04:1/2" SE: FpHK
2000 02:1/4" 06:3/4" A: BEHIX
3000 03:3/8* 10:1* D: B@HiK
4000
5000
| P33k
28 AC1000 AC2000 AC3000 AC4000 AC5000
mUOE M5 | 02 ] 02,03 | 04,06 06,10
RUEMED 1.5Mpa{15.3kgf/cm’}
RWRAEN 1.0Mpa{10.2kgf/cm’}
RRRFEEN 5~60C
R Sum
R AF18BSOVG32
wHE HERE
Ll AC1000~2000(%) AC3000~5000(#)
AC1000:0.05-0.7Mpa(0.51~7. 1kgf/cm’)
AEEN AC2000~5000:0.05~0.85Mpal(0.51~8.7kgl/cm’)

i i£%2. 10, 20, 40. 70, 100p mEJ i .

s
28 "
BRAR(Umin) BWOSRC(PT) EHAOSRC(PT)  EM(Kgl)
FiHkE  BapHKE oE ] ] MER HEH
AC1000-M5 | AC1000-MS5D  AF1000 AR1000 AL1000 90 M5x8 116 0.26
AC2000-02 | AC2000-02D  AF2000 AR2000 AL2000 500 14 118 0.74
AC3000-02 | AC3000-02D  AF3000 AR3000 AL3000 2000 14 118 1.18
AC3000-03 | AC3000-03D  AF3000 AR3000 AL3000 2000 38 118 1.18
AC4000-04 | AC4000-04D  AF4000 AR4000 AL4000 4000 12 1/4 2.14
AC4000-06 | AC4000-06D  AF4000 AR4000 AL4000 4500 3/4 1/4 2.47
AC5000-06 | AC5000-06D  AF5000 AR5000 AL5000 5000 3/4 14 3.82
AC5000-10 | AC5000-10D  AF5000 AR5000 AL5000 5000 1 14 3.82

i, 1 EREEKANF (N.O.) , AC3000~500075A %A (N.C.) Tk, MBERBEH. MF-0.1Mpa (1kaflcm’) #i#@-0.15Mpa(1.5kgflcm’).
2 N $H0.7Mpa(7. 1kgflcm )WR .

282



=

T 2 e o= g
airpower =R

W SR TEEX)

®AC1000~2000

1148
3 % ‘4'< s E . F
ﬁGL’
L‘l LAER
=
T L /
Aol I . / 2
B L — 1 ‘K\:J" I !
= A |
wiek  / : b (ﬂﬁm
(fE& ) / IJ q
T |
l NEN  yaw
1A
i
®AC3000~5000 .
(11 S -
N A &1 D FTHT.%
o g - gl |/
el m s
——*2{ Fi t{ e (o LF { ::I
= ] paaniin
T =S v N R T
ik % ! iéﬁj . =
({2 1.5%) e =
\ﬁ/ G et
| WIEN  wBs P
K ol 2 2%
we I s i e S e S T ‘“g"’"
AC1000 M5x0.8 | 01 | 84.5 | 255 | 25| 26 | 25| 33 | 20 | 45|75 5 | 175 16 | 385 105
AC2000 1/4 140 125 38 40 | 568 | 30| 50 |24 | 55|85 5 22 23 50 147.5
AC3000 14-3/8 | 181 | 156.5 38 53/ 608 | 41| 64 | 35 7 1 7 |1342 |26 | 705 194
AC4000 12 238 | 1915 41 70 | 655 | 50 | 84 | 40 Bl 13 7 | 422 | 33 88 229
AC4000-06 3/4 253 193 405 | 70 | 695 | 50 | 89 | 40 - 13 7 | 46.2 | 36 88 230.5
AC5000 3/4-1 300 | 2715 48 90 | 755 |70 | 105 | 50 | 12 16 | 10 [ 55.2 | 40 | 115 309.5

283




= & o®

airpower PR

W #s
B ESERAE
Ac 2010 02 o
(F3Ks) AERT) (@R#n) (WAAR)
1010 M5:M5  04:1/2° D6 FARK
2010 02:1/4" 06:3/4" A: £EHK
3010 03:3/8" 10:1° D: @K
4010
5010
| Eoi3L
oS AC1010 AC2010 AC3010 AC4010 AC5010
#HO8 M5 | 02 | 02,03 | 04,06 | 06,10
REMEN 1.5Mpa{15.3kgf/cm’}
BEEREN 1.0Mpa{10.2kgf/cm’}
RARRKIRR 5-60C
RAe S5um
BB RF18BISOVG32
Wi HEmE
o ] AC1010~2010(%) AC3010~5010(%)
AC1010:0,05-0.7Mpa(0.51~7. Tkgficm’)
WETH AC2010~5010:0.05~0.85Mpa(0.51~8.7kgf/cm’)

#: £82, 10, 20, 40, 70, 100y meJ H4i%I%,

wy — s
FAN T T e HERE(L/min) BEOSRC(PT) ENROBRCPT) ER(Kof)

AC1010-M5 | AC1010-M5D AW1000 AL 1000 90 M5x8 1116 0.22
AC2010-02 | AC2010-02D AW2000 AL2000 500 114 118 0.66
AC3010-02 | AC3010-02D AW3000 AL3000 1700 1/4 18 0.98
AC3010-03 | AC3010-03D AW3000 AL3000 1700 318 1/8 0.98
AC4010-04 | AC4010-04D AW4000 AL4000 3000 12 174 1.93
AC4010-06 | AC4010-06D AW4000 AL4000 3000 3/4 174 1.99
AC5010-06 | AC5010-06D AWS000 AL5000 4000 3/4 14

AC5010-10 | AC5010-10D AW5000 AL5000 4000 1 1/4

iE: 1IEBMEAARF (N.O.) , AC3010~501076%E (N.C.) FTHiER, MBERMBEN. RF-0.1Mpa (1kgfiem’)®H-0,15Mpa(1.5kgflcm’),
2.8 HR0.7Mpa(7. 1kgflcm )R T .

284




=

T 2 e o=
airpower =R

=y

W SMERTEEX)

®AC1010~2010

A 3 L_F
N ¢ 0
7 \ ! Tt
|
-}- R ///
— i, I -
_[J"_ !"I VS 2 i H Haﬁ :“'” }?—N ANl - ﬂ
= 1= 1R o 0. 2 o N
I Wik
Kk / L !
({E&I0) ] U
// ,] [ ]") || EaE
g / | s
o i
WES .
1 '
SN
@ AC3010~5010
\ E F

i 2%

i |

b
Ty ng A B coereanLuuﬁ‘“:“
AC1010  M5x0.8 | 58 | 109.5 | 505 | 25| 26 | 25| 20 | 20| 45| 75| 5| 175 16 | 385 | 130
AC2010 114 S0 164.5 78 40 | 56.8 | 30 45 24 | 55|85 |5 22 23 50 187.5
AC3010  1/4-3/8 | 117 | 211 | 925 | 53 | 60.8 | 41 | 585 | 35 | 7 | 11 | 7| 342 | 26 | 705 | 2485
AC4010 2 | 154 | 2625 | 112 | 70 | 705 | 50 | 77 | 40| 9 | 13 | 7 | 42.2 | 33 | 88 300
ACA010-06 34 | 164 | 267 | 114 | 70 | 705 | 50 | 82 | 40| 9 | 13 | 7 | 462 | 36 | 88 304

285




=

T 2 e o=
airpower R

=y

W #s
— ' >—
N\ ’
‘F
| B S E
% 2000 % 2
(myee) (muRd) (wurn) (BAnHL)
1000 M5:M5 04:1/2°  28: FHhilK
2000 02:1/4* 06:3/4* A ZEHX
2000 03:3/8 10:1*  D:E#EX
4000
5000
| E¥i3l
2] AF1000 AF2000 AF3000 AF4000 AF5000
w08 M5 [ 02 [ 02,03 ] 04,06 [ 06,10
RERMED 1.5Mpa{15.3kgf/cm’)
BREBEN 1.0Mpa{10.2kgf/cm’)
FARRERE 5-60C
s 5um
FHE [T
FHPE AF1000~2000(%) AF3000~5000(%)
i E8H2. 10, 20. 40, 70, 100y mEJHEE,
we s W
R 8¥08 ng EE(Kof) wEA
FahkE ZEk 2,8+ R (Umin) Re(PT) (em FaHEX BRiHEX
AF1000-M5 AF1000-M5D 110 M58 4 0.07 C100F AD61
AF2000-02 AF2000-020 750 1/4 15 0.19 C200F AD62
AF3000-02 AF3000-02D 1500 1/4 20 0.29 C300F AD43
AF3000-03 AF3000-03D 1500 38 20 0.29 C300F ADA3
AF4000-04 AF4000-04D 4000 112 45 0.55 CA00F AD44
AF4000-06 AF4000-06D 6000 314 45 0.58 CA400F AD44
AF5000-06 AF5000-060 7000 3/4 130 1.08 CA00F AD44
AF5000-10 AF5000-10D 7000 1 130 1.08 CA00F AD44

i L IREEAMHKAMA (N.O,) , AF3000~-40007F4%H (N.C.) AR, MBEERAES: BFF-0.1Mpa (1kgf/cm’), #i@-0.15Mpa(1.5kaflem’),
2.8 H50.7Mpa(7. 1kgflem )RR T«

W EESH
HH/material
i A AF1000~2000 AF3000~4000/4000-06 AF5000 =
1 T L ELS BEHS | BEBS BE WG angse
9 mE 1R e
B T4%
3%
i i i AF1000  AF2000  AF3000  AF4000  AF4000-06  AF5000
s - L]
L
3 13 ABS
4 (o)1 431 ] NBR
5 W g R IE
6 WiLm ABS
7 ONErHM NBR
8 L NBR

286




= & o®

airpower PR

W wEE

®AF1000~2000 @ AF3000~4000 ®AF5000

W SMERTEEX)

® AF1000~2000

=
fox| \204
ARTHAE

@AF3000~4000
|
o -
A a]
L
]IH
J i U) wARLTADIAY
|
(23
® AF5000
A
L " >
X: 4y
[
A WD \ i
o H:U :IV
.: ‘ NO-RE
ol i U &/ \ERER e 14
S s ncko
| RRRE O
na
vs B a0t | Intl| Sl e (70 [t It B S| R I e
AF1000 M5x08 | 25 66 7 25 - | - - - - - - - 26.5 86.5
AF2000 1/4 40 | 975]| 11 40 17 30 27 22 54 | 84 40 23 | 40 120.5
AF3000 1/4-3/8 | 53 | 1325 14 53 16 41 40 23 6.5 8 53 2.3 56 170
AF4000 12 70 |168.5| 18 70 17 50 54 26 85 |105| 70 2.3 73 206
AF4000-08 3/4 75 [172.5] 20 70 14 50 54 25 85| 105 70 2.3 73 210
AF5000 3/4 -1 90 |247.5| 24 90 23 | 70 66 35 1 13 90 3.2 90 285.5

287



= & o®

airpower PR

W #s
/| g
\
| R TR
AR 2000 02
RIRE (RS [ T% 15)
1000 M5:M5
o0
oo 04:1/2*
gggg 06:3/4"
10:1"
W R
He AR1000 AR2000 AR3000 AR4000 ARS5000
#EOE M5 | 02 | 02,03 [ 04,06 | 06,10
FEWEN 1.5Mpa{15.3kgflcm’}
RREBEN 1.0Mpa{10.2kgf/cm’}
RARRGER 5~60C
asnE AR1000:0.05~0.7Mpa(0.51~7.1kgf/cm’)
AR2000~5000:0.05~0.85Mpa(0.51~8.7kgflcm’)
i*: AR2000~5000F% ME7SH: 0.02~0.2Mpa(kgflcm’)
BES/Model e
HERBLmn) BEOBRC(PT) EHZEOERC(PT) E&(Kqf)
AR1000-M5 100 M5 x 8 1/16 0.08
AR2000-02 550 1/4 118 0.27
AR3000-02 2500 1/4 118 0.41
AR3000-03 2500 318 18 0.41
AR4000~-04 6000 112 14 0.84
AR4000~06 6000 3/4 1/4 0.94
AR5000-06 8000 314 1/4 1.19
AR5000-10 8000 1 114 1.19
i 1L.BEENH0.7Mpa ( 7.1kgllem’), ZREHREH0.5Mpa(5. 1kgt/cm’ R F.
W ERH
(21 2)
i &= AR1000~2000 AR3000 AR4000~ARS5000 =
1 L3 1 E | A A L)
2 L HZE 2 BEE
W 24x
eSS
il niren o AR1000 AR2000 AR3000 AR4000 AR4000-06 ARS5000
3 [T NBR
4 HEH WENBR
5 EET FHR
6 OB 11 NBR
7 EWBYRE NBR
8 ORE M NBR
9 ORE M NBR
10 WERE -
1" i -

288




= & o®

airpowe: PR

[ Rt
TEOMA
2\,
/ ’ o 2
\'\&:"‘ ,/} 5.
L
AH AR1000-3000; BXSK3.5
AR4000~5000: @AM ®5
1
B MR E(EX)
[
. - —
N (— | / |
/ / e
G / | 2
/ /
I‘ '/
' N | X '
| x )
! i
1/ ;
¢ - )
( (1) - |
e [ \ L ;
@ o J r_fq
- {
Al A=\ K 'Jr_
?—.:Q'..(ﬂ- || — 1 : ” “/\\\ '_Lv
IS LKL
. AN, Nt
- \
o e s
X
\ Kl N2t
®s oe A B (o D E F G H J K L M N
AR1000 M5x0.8 | 30 61.5 1" 25 26 25 28 30 4.5 6.5 40 20 205
AR2000 1/4 40 95 17 40 56.8 30 30 45 54 154 55 23 335
AR3000 1/4 - 3/8 53 127.5 35 53 60.8 41 41 46 6.5 8.0 53 23 425
AR4000 12 70 1495 | 375 70 65.5 50 50 54 85 10.5 70 23 52,5
AR4000-06 3/4 75 1545 | 405 70 69.5 50 50 56 8.5 10.5 70 23 52.5
ARS5000 3/4-1 90 168 48 90 75.5 70 70 65.8 1 13 90 32 52.5

289




= e

T 2 e o= y
airpower R

W iEE

®AL1000 ®AL2000 ®AL3000~4000 ®AL5000

W SMERTEEX)

®AL1000~2000 ®AL3000~4000

AL 9 [ : ﬁ :
q l. Fant N
2-08 AQ w0 \&1’ v
‘ . Q _
|
J |
[ NS g —
N R
®AL5000
A wRog

11
E
E

.
. ]lg
- !
[Ty ]
D
-
/s
1
A

b
o8 og A B c D K F G H J K L M P
AL1000 M5x08 | 25 | 815 | 25.5 25 - - - = - = - - 27
AL2000 114 40 122 38 40 30 30 27 22 5.4 8.4 40 23 40
AL3000 1/4-3/8 | 53 142 38 53 41 41 40 23 6.5 8 53 2.3 56
AL4000 112 70 177 41 70 50 50 54 26 85 | 105 70 2.3 73
AL4000-06 3/4 75 177 39 70 50 50 54 25 85 | 105 70 2.3 73
AL5000 3/4 -1 90 254 45 90 70 70 66 35 1 13 90 3.2 90

291



=

T 2 e o=
airpower

W #s
B RSERRS*
et 2000 0z L
il 1 % i
(RMpe) (wuRd) (wamno) (BxAR)
1000 M5:M5 SE: FHHIK
2000 02:1/4* A: BEIEK
o0 ma o mae
5000 06:3/4"
W s e
ma AW1000 AW2000 AW3000 AW4000 AW5000
HROE M5 | 02 | 02,03 | 04,06 [ 06,10
RERMED 1.5Mpa{15.3kaf/cm’}
BEEBED 1.0Mpa{10.2kaf/cm’}
RBARREEE 5-60C
oy 28 Sum
#irH 1
Pt | AW1000~2000(%) AW3000~5000(%)
AEEE AW1000:0.05~0.7Mpa(0.51~7.1kgllem’) .
AW2000~5000:0.05~0.85Mpa(0.51~8.7kgf/cm’)
i, 82, 10, 20, 40, 70. 100y malGtiEsE.
0w
Bs - BEOS EHEO L]
FahkE BmhHExE Re(PT) #Rc(PT) (Kgf)
AW1000-M5 AW1000-M50 100 M5 x 8 1116 0.09
AW2000-02 AW2000-02D 550 114 1/8 0.36
AW3000-02 AW3000-02D 2000 1/4 118 0.56
AW3000-03 AW3000-03D 2000 3/8 1/8 0.56
AW4000-04 AW4000-04D 4000 112 104 1.15
AW4000-06 AW4000-06D 4500 34 1/4 1.21
AW5000-06 AW5000-06D 5000 3/4 114
AW5000-10 AW5000-10D 5000 1 1/4

i#: 1B ARF (N.O.) , AW3000-4000-45 % (N.C.) SI6tHR, MMERBES: MF-0.1Mpa (1kgflcm’) #H-0.15Mpa(1.5kgflcm’),

2.8t DR0.7Mpa(7. 1kgflcm )R T .

W EEPH
#a
e ks AW1000~2000 AW3000 AW4000/AW4000-06 s
1 Hjix W | IBEW G BEW & HEREE
2 ) MZH BEW gRe
W 24
THES
i b ko AW1000 AW2000 AW3000 AW4000  AW4000-06
3 M MENBR
B HRy Ll
5 AR ABS
6 WAEk NBR
7 Lk ABS
8 Fif N
9 okl 58
10 ROMEHMN NBR
1 HORE M NBR
12 MYEI &8 NBR
13 OXEHRM NBR

292

=y

R4




= e

T 2 e o= y
airpower =R

W 5iEE

®AW1000 ®AW2000 ®AW3000 - 4000

Elf
b 0T
FAAAE

byt
HEN
N
N
NG
i') \S
n ® ks I
B SR E(EX)
®AW1000~2000
-
MLE b
f
l'?lﬂ
iy %
AD~— -4 w0 ’.ax.'.).
%, i
[ To] S g 2
AWID00.MANERIS
i AW2000 BABES
N
2
=B
uss
@ AW3000~4000
~eii {
A
= , <
o\ —soe i &
i : DA,
: ...
rig Ezm‘ 3 axnms
\ NC.E8 o no
o KAPLTHRARAD
Dvain
vs n&AacoessHJKLMNP‘E?”"
AW1000 M5x0.8 | 25 |109.5 50.5| 25 26 25 28 30| 45| 65| 40 20| 205| 28 130
AW2000 1/4 40 |164.5| 78 40 | 56.8| 30 30 45 | 54 | 154 | 55 231335 40 187.5
AW3000 1/4-3/8| 53 | 211 | 92.5| 53 | 60.8| 41 40 46 | 65| 8.0 53 23 | 425| 56 248.5
AW4000 12 70 |262.5| 112| 70 | 70.5| 50 54 54 | 85105 70 23 |525| 713 300
AW4000-06 3/4 75 | 267 | 114 70 | 70.5| 50 54 5 | 85|105]| 70 23 |525| 73 304

293




= = om =
airpower




